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Practice 9-1

Adding and Subtracting Polyn~mials

Write each pelynomial in standard form. Then name each polynomial based
on its degree and number of terms.

1.

4,

7.
10.
13,
16.
Simplify. Write each answer in standard form.
19.
21.
23.
25,
27.
29,
31.
33.
35.
37.
39,
41.
43,
45,
47,
49,
51.
53.
55.
57.

4y3~4y2+3—y 2.2+ -6
2m® — T + 3m 5 4-x+2
n? - 5n 8. 6+ 72

5+ 3x 1. 7 — 8a* + 6a
2+ 4t — 2 14, 40 ~ 22

x — 652 — 3 17. v} — v + 242

(322 ~ 5x) — («% + 4x + 3)

Gy} ~ 11y + 3) — (59 + y2 + 2)
(2a° + 3a> + 7a) + (& + a? - 2a)
(2 —6) + (5x2+x—3)

(53 + 2n% + 2) — (n® + 312 - 2)
(2x% + 9x ~ 17) + (x2 — 6x — 3)
Br+ 22— - (2 + 22 + 51)
(GBx + 72 + (2 - 23

(32 =5 —7) + (2 - 6y + 7)
(4x? + 13x + 9) + (122 + x + 6)
(Tx — 4x% + 11) + (752 + 35)
Y-+ -6

(B2 =2 +9) — (2~ x+7)
@2 -2 = 7) + (92 + 2 + x)
(22 +3—x) - 2+ %2 — 5x)
(2 +3x) =~ (2 + 6 — 4x)

(6x? — 3x + 9) — (2 + 3x - 5)
03 +3y—1) — 3+ 3y + 5)
(22 + 15c +13) + (3% — 15z + 7)
(Zx+3)— (x —4) + (x + 2)

20.
22.
24,
26.
28,
30.
32.
34,
36.
38.
40.
42,

46.
48.
50.
52.
54,
(783 + (P —x+5)
58.

3.x+2

6. 70 + 22

9.3 + & — da + 3
12. 55 + 4 — x?

15. y2 -7 -3y

18. 84 + 3d?

23 -4 +3)+ (P -32+1)
(3x2 + 2% — (3:2 + Tx — 1)

@ -y + -6 +3y -3
(5n* —7) - @ +n - 3

Gy? = Ty +3) — 5y + 3 - 4%

(3w.13—51'2)+(x+ 2_13—3)

(d* + 8 — 5d) — (5d2 + d — 2d4° + 3)

(6c% + 5¢c — 3) — (3c% + 8c)

(32 — 8c + 4) — (7 + & — &)
(2x — 13x% + 3) — (22 + 8x)
(dx + 72 — 9% + (3 — 22 - 51)
(x* — 8x — 3) — (2 + 82 ~ B)
(2x% — 6x + 3) — (2x + 42 + 2)
(B + a2~ 1) + (24 + 3a + 1)
(n* — 20 — 1) + (5n = n* + 5)
(72 + 45 + 2) + (35 + 2 — 5%)
(3 — &%+ 4) + (25 - 3x + 9)
(3 + 5% + 20 — (x + 22 + 459)

(¢ + 4) — (x— 4) + (2% — 2v)
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Name Class

PfaCtice 9-2 Multiplying and Factoring

Simplify each product.

1. 4(a - 3) 2. -5k —-2) 3. 3272 + 3x)
4. 45 - 3) 5 —52(2 + 2 + 1) 6. 3x(x? — 5x — 3)
7. ~x%(—2¢* + 3x - 2) 8. 4d%(d? — 3d — 7) 9. 5m3(m + 6)

10. 4*(2a + 4) 11 402 = 3) + x(x + 1) 12, 4x(5x — 6)

Find the GCF of the terms of each polynomial.

13. 8y — 4 14. 15x -+ 45x2 15. ¥ + 3x

16. 4> — 82 + § 17. 12 — 36 18. 1213 + 452

19. 1423 + 7,2 20. 82 — 12x 21. 9 - 27%°

22, 253 — 1542 23, 11 — 33x 24. 4n* + 6n® — 8n?

25. 84% + 4d% + 12d 26. 6x% + 12¢ — 21 27. 8¢ + 16g — 8

Factor each polynomial.

28. 8x + 10 R 29. 12n3 = 8n T30, 14d — 2
31. 64#% — 8k 32, 3% - 1523 - 922 33. 3)° — 8y — 9y
34. 2 - 542 35. 83 — 1227 + 4x 36. 7x° + 214

37. 6a° — 1242° + 14a 38. 6x% + 1242 39. 3t — 612 + 9n
40. 23 + 6w? — 4w 41. 12¢3 - 30c2 42, 2% + 8x — 14
43. 4% + 1222 + 16x 44. 16m3 — 8m? + 12m 45, 40 — 20a° — 8a
46. 184 - 9¢% + 7c 47. 6yt + 93 — 27,2 a8. 62 — 3c

49. A circular pond will be placed on a square piece of land. The length of a
side of the square is 2. The radius of the pond is x. The part of the square
not covered by the pond will be planted with Aowers. What is the area of
the region that will be planted with fowers? Write your answer in
factored form.

50. A square poster of length 3x is to have a square painting centered on it
The length of the painting is 2x. The area of the poster not covered by
the painting will be painted black. What is the area of the poster that
will be painted black?

51. The formula for the surface area of a sphere is A = 4xr? A square
sticker of side x is placed on a ball of radius 3x. What is the surface
area of the sphere not covered by the sticker? Write your answer in
factored form.
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PraCtice 9"'3 Multiplying Binomials
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Simplify each product. Write in standard form.

1. (x + 3)(2x — 3) 2. (2 +x - D+ 1) 3. (Gw + 42w — 1)
4, (x + 5)(x + 4) 5. (2b — 1)(6% — 3b + 4) 6. (a — 11)(a + 5)
7. (25 — 3)(2g° + g — 4) 8. (3s — 4)(s — 5) 9. (4x + 3)(x — 7)
10. (x + 6)(x% — 4x + 3) 11. (5x — 3)(4x + 2) 12 3y + Dy + 5)
13. (3x + T){(x + 5) 14. (5x — 2)(x + 3) 15. (3m% — 7m + 8)(m — 2)
16. (a — 6)(a + 8) 17. (x + 2)(22 ~ 3x + 2) 18. (a2 + a+ (@ — 1)
19. (x — 2)(x> + 4x + 4) 20. (2r + 1)(3r — 1) 21. (k + )3k — 4)
22. (2n ~ 3)(n®* — 21 + 5) 23. (p — 4)(2p + 3) 24. (3x + 1)(@x2 — 2x + 1)
25. (22 — Sx + 2)(4x — 3) 26. (x + 7)(x + 3) 27. (6x — 11)(x + 2)
28. (2x + 1)(4x + 3) 29, (3x + 4)(3x — 4) 30. (6x — 5)(3x + 1)
31, (n — N(n + 4) 32. (3x — 1)(2x + 1) 33. (d + 9){d — 11)
34. (262 + 5x — 3)(2x + 1) 35. (b + 8)(2b — 5) 36. (2x — S)(x + 4)
37. Bx+5Gx—7) 38, (x — 5)(2F — Tx — 2) 39. (2% — 9x + 11)(2x + 1)
40, (22 + 5x — H)2xc + 7) 41, (2 + 6x + 11)(3x + 5) 42. (5x + 7)(7x + 3)
43. (4x — T)(2x - 5) 44, (x — D(Bx + 5) 45, (2x — 1)(x%2 — 7x + 1)

46, The width of a rectangular painting is 3 in. more than twice the height.
A frame that is 2.5 in. wide goes around the painting,.

a. Write an expression for the combined area of the painting
and frame.

b. Use the expression to find the combined area when the height of
the painting is 12 .

¢. Use the expression to find the combined area when the height of
the-painting is 15 in.

47. The Robertsons put a rectangular pool with a stone walkway around it
in their backyard. The total length of the pool and walkway is 3 times
the total width. The walkway is 2 ft wide all around.

" a. Write an expression for the area of the pool.
b. Find the area of the pool when the total width is 10 ft.

¢. Find the area of the pool when the total width is 9 ft.

TEE
e

48. The Cutting Edge frame shop makes a mat by cutting out the
inside of a rectangular board. Use the diagram to find the
length and width of the original board if the area of the mat
is 184 in.

n Lesson 9-3 Practice Algebra 1 Chapter 9
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Practice 9-4

Multiplying Special Cases
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Simplify.
1. (w — 2)2

3. (4w + 2)°

5. (3x + 7)%

7. (2x — 9)?

9. (6x + 1)

11. (x + 8)(x — 8)

13. (x — 12)(x + 12)

15. (2x + 1)(2x — 1)

17. (6x + 1)(6x — 1)

19. (2 + y%)?

21. (a® — b2)>?

23. (3 — 6x%)?

25. (3y + 2a)(3y — 2a)
27. (3x% + w32 — 4u?)
29. (2a + 7b)(2a — 7h)

31. 182
33. (29)(31)
35. (19)(42)

Find the area.
37.

L0+ 1

Find the area of the shaded region.

39.

2x+ 1

10.
12.
14,
16.
18.
20.
22,
24.
26.
28.
30.
32.
34.
36.

38.

40.

& o N

o+ 47

(w = 9)

(3x — 7)?

(x — 12)?

(4x — 7

(x — 11)(x + 11)
b+ Wiy — w)

(Sx — 2)(5x + 2)
(2x — 4)(2x + 4)
(2 + )2

0,2 _ 4w2)2

(4a — 3y)?

& + )62 - 2p)
(4x + 3wd)(dx — 3w?)
(52% - 6x)(54% + 6x)
(64)2

(97)(103)

(95)(205)

3x+ 2

In=—-2
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Practice 9-5 Factoring Trinomials of the Type > + bx + ¢
Factor each expression.

1. %+ 8 + 16 2. d* +8d +7 3. y2 + 6y + 8
4, b2 —2b -3 5 2455 6. X2 + 12¢ + 32
7. 2 - 9x + 20 8. X —5x+6 9. 0%+ 32 +2
10. p>2 - 8p + 7 1. d* +6d +5 2.7 +n-6
13. 2 +5x~ 14 14, b* + 9 + 14 15. x% + 1dx + 45
16. a®> + 7a + 12 17. 2+ 13x + 22 18. x> +3x — 4
19. 2 — 8 + 12 20. x* + 7x — 18 : 21. 72 — 7n + 10
22, 2 — 55— 14 23, 22— 9x + 8 24, % - 2x — 24
25. x? — 6x — 27 26. ¥2 — 16x — 36 27. 22 + Tx + 10
28. x* — 3x — 28 29. m? — 4m - 21 30, % - 2x — 15
31. x2 —5x — 24 32. p% - 4b — 60 33, x% —3xr— 18
34, m?+ Tm + 10 5.2 —n—-72 36. /2 — 6k + 5
37, %+ 9x + 20 38. x2 — 10x + 9 39. x% — 8x + 16
40, > — 4d + 3 41, b — 26b + 48 42. n® - 151 + 26
43. > —n -6 44, 2 — 147 + 49 a5, 2% + Tx + 12
46. x> — 18x + 17 47. x* + 16x + 28 48. f* — 61 — 27
49. b2 + 4b — 12 50. d? + 114 + 18 51. x* + x — 20
52, 2 — 13x + 42 53. 2 +x—6 54. 2 + 4x — 21
55, g% + 2a — 35 56. #% + Th — 18 57. x2 + 3x — 10
58. p? — 12p — 28 59. y2 + 6y — 55 60. b2 + 3b — 4
61. x% + 2r — 63 62. X2 —2x -8 63. 22 — 11x — 60
64. >+ 2r — 35 65. 2 —3c— 10 66. x2 + 8x + 15
67. x2 — 8x + 15 68. n? — 23n + 60 69. ¢ + 3¢ — 10
70. X% — 9r + 14 71. x2 — 10x + 24 72. X2 + 6x — 27
73. % — 16y + 64 74. n® + 10n + 25 . 75. 2 —14r-51
76. x% + 3x — 40 77. X2 —x — 42 78. n — 2n — 63
79. 2+ 7a + 6 80. x* — 14x + 48 81. x2 — 11x + 28
82. n® + 16n — 36 83. 0% —4n—21 84. y2 + 16y ~ 17

(B X E R R R EEREREE R R R EXEEEYESEE TR R RSN RN R RN N N I I I N B I B I RN N LR BB LN
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Practice 9-6

Factoring Trinomials of the Type ax? + bx + ¢
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Factor each expressioa.

1. 22 +3x + 1

4, 32—y~ 4

7. T+ 9n +2
10. 62 — 7x — 10
13. 5x% + 2x — 3
16. 3x2 + 8x + §
19. 5¢2 — 22x + 8
22, 3x* - 2xr — 8
25. 4% — 11y — 3
28. 7y + 19y + 10
31. 2% + 55 — 3
34, 2% —x - 21
37. 6x2 — 19x + 15
40. 2% — 5x — 12
43, 127 — 7y + 1
46, 12x> + 19x + 5
49, 152> — 19x + 6
52, 22x% + S5lx — 10
55, 8x% + 65x + 8

58. 18x% — 27x + 4

11.
14,
17.
20.
23.
26,
29,
32,
35.
38.
41.

47,
50.
53.
56.
59,

2¢% + 5t + 3
2% — 9y — 5
32 - 17c - 6
3x% — 10x + 8
32+ Tx + 2
2% + Ox + 4

4 + 17x — 15

32+ 7y~ 6
2% 4 9y + 7
7x% ~ 30x + 8
262 — 5x + 3
562 — 1lx + 2
2% - x - 15
62 —Tx — 5
6y — 5y + 1
7y* + 47y — 14

82 — 30x + 25
14x2 — 41x + 15
20x2 + 37x + 15

1052 + 3x — 4

12
15.
18.
21.
24.
27.
30.
33.
36.
39.
42,
45,
48,
51.
54,
57.
60.

mE+n—6
L2 -2 — 7
3% + 8x + 4
3y® — 16y — 12
722 — 10x + 3
562 - Tx + 2
5¢% — 33y — 14
2x% + 13x — 24
5y — 3y —~ 2
3¢ + 17x + 10
32 + 10x + 3
4x? + 4x — 15
2 —-Tx—6
42 + 7x + 3
62 — 1lx + 4
11x? ~ 54x — 5
14y% + 15y - 9
82 + 17y + 9

24y% + 41y + 12

10y% — 29y + 10

Lesson 9-6 Practice
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Practice 9-7 Factoring Special Cases
Factor each expression.

1. 2 -9 2. 4m? -1 3.2+ 2% +1

4, 452 + 12 + 9 5. x% — 22¢ + 121 6. n* — 4

7. B2 — 4 8. 16c% — 49 9. 9x% — 30x + 25
10. 4x% — 20x -+ 25 11. 222 — 18 12, x* — 24x + 144
13, 3% -3 14. 94* + 60h + 100 15. 942 — 49
16. 81a% — 400 17. - 36 18. 34% — 48
19. b2 + 4b + 4 20. 102 — 90 21. 25¢2 - 64
22, 12w% — 27 23. ¢ — 25¢ 24, ¥ 4+ 6x + 9
25. a2 — 25 26. 365> — 225 27. 4b% + 44b + 121
28. x> — 16x + 64 29. Y2 —2r + 1 30. 4> — 49
31. 2 - 36x 32. 9y — 289 33, x2 — 30x + 225
34. 100a% — 9 35, 242 + dx + 2 36. 5n° — 20n
37. 9% + 12n + 4 38. 4% — 169 39, 4a° - 81
40. »* — 121 a1, 5 + 40x + 80 42, 16n> + 56n + 49
43, 3n% - 30n + 75 a4, % + 260 + 169 45, 2552 — 144
a6. 94> — 64 47, n? ~ 28n + 196 48, 494% — 14a + 1
49, y2 + 8y + 16 50. y% — 400 51, x% ~ 10x + 25
52. 4x* — 60x + 225 53. 3% — 363 54, y*> — 81
55, 4% — 100 56. 256a% — 1 57. n? + 34n - 289
58. 243 — 50d 59. y* + 22y + 121 60. 144x% — 25
61. 4x* — 169 62. x* — 12x + 36 63. 64r2 + 80r + 25
64. 50n° — 32m 65. b% — 225 66. x* — 18x + 81
67. b2 — 64 68. 16x2 — 72x + 81 69. b2 — 256
70. 22 + 24x + 144 71. 225¢% ~ 16 72. 222 + 402 + 200x
73. 4% - 25 74. 16x% + 8x + 1 75. b* — 14bh + 49
76. x* + 30x + 225 77. m% — 28m + 196 78. 9% — 256
79. b2 + 206 + 100 80. m? — 16 81. 4x — 32x + 64
82. 12 — 196 83. 8x° — 3 84, 25x% — 30x + 9
85. 8m? - 16m + 8 86. 9x2 — 400 87. m* — 144

Lesson 9-7 Practice Algebra 1 Chapter 8
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Practice 9-8

Factoring by Grouping
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Factor each expression.
1. x(a +2) — 2(a + 2)
4, aly + 1) — by + 1)
7. xy +dy — 2x — &
10. ax + bx —ay — by
13. 2ax + 6xc + ba + 3bc
16. 2¢2 — 3x + 1
19. 4x> + 8x + 3
22, 22 - 3xr -2
25. 12y% - 5y — 2
28. 16y% + 10y + 1
31. 10¢% - 3x -1
34, 260 + 82 + x + 4
37. ¥ + 32 +4x + 12
40. 9 — 12x2 + 3x — 4

2.

5.

8.
11.
14.
17.
20.
23,
26,
29.
32,
35.
38.
41.

3(x 4+ y) +alx +y)
x?‘-l-?:.r-i-ny + Gy
ab +7b — 3a — 21
20 — 6xy + 5x — 15y
Xy =32 -2+ 6
22— 7x + 3

6x% ~ Tx + 2

122 —x -1

10y + 21y — 10
1622 — 14x + 3

9¢2 + 25x — 6

8x* + 6x — 28xF — 21
6x3 4+ 3% + 2c + 1
1003 — 25¢7 + 4x — 10

Find expressions for the possible dimensions of each rectangular prism.

43. The volume of the prism is given.

12.
15.
18.
21
24.
27,
30.
33.
36.
39.
42,

mx — 3) + k(x — 3)
y2 — Swy + dy — 20w
ax + bx + ay + by
3% ~ 6xy + 2x — dy
6 + 2y + 3x2 + x%y
6% + Tx + 2

4x% — 9x + 2

62> + 19x + 3

592 + 13y + 6

16x% + 16x + 3

14x2 + 15x — 9

50 — x4 15x — 3
30 + 9 + 2 + 6
4x3 — 2067 + 3x — 15

44. The volume of the prism is given.
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ReteaChing 9-1 Adding and Subtracting Polynomials

OBJECTIVE: Adding and subtracting polynomials MATERIALS: Tiles

_Example.

Using tiles, simplify (2a% + 4a — 6) + (a®> — 2a + 4).
~— Use tiles to represent the terms
U of 2a% + 4a — 6.
~— Use tiles to represent the terms

O O O O of a® — 2a + 4, Align like
terms vertically with the tiles
in the row above,

15
ade) [

mlE

—~— Remove zero pairs.

~— Count the remaining tiles.

322 + 22— 2 ~—  Solution

Use tiles to simplify each sum or difference,

1. e —5y+3)+(2x+ 7y —7) 2. (3a% + 50 — 6) — (22> — 32 — 9)
3. (62 —3x+2) + 32 +x~5) 4. (4> + 2x — 7) — (=3x% — 6x + 2)
5. (62 — 522 + 1) + (82° + 722 — 4) 6. (4 +2) — (-2 + 5) + (2 + 4)
Simplify. Write each answer in standard form.
7. (2 —3x + 4) + (32 + 2 — 3) 8. (72 —3x +1) — (2 +x*-2)
9. 3 -3y +2)+ @2 +3y - 1) 10. (5x2 — 10) — (3x* + 7)
11. (22 + £2 + 1) + 32 — 22 + 2) 12. 42 +3x +2) — (2% - 3x + 7)
13, 32 +7x—6) + (P + 2 —x—1) 14, (4% — x + 6) — (3x% — 4)

Lesson 9-1 Reteaching Algebra 1 Chapter 9
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Retea(:hing 9.2 Multiplying and Factoring
OBIJECTIVE: Factoring a monomial from a MATERIALS: None
polynomial

» To factor a polynomial you must find the Greatest Common Factor.
The GCF is the greatest factor that divides evenly into each term.

Factor 18x° + 6x% — 12x.
a. Tirst find the GCFE
18x° = @ @ 3 @ X X -«— List the factors of each term. Circle

the factors common to all terms.
-0 @ @

= @ 2 ® ©

7.3 .x = 6x ~—— Multiply the circled terms together

o to get the GCE.
b. Factor out the GCF from each term. )

-3
1_2_:_;_ = 3x ~— Divide each term by the GCFE.

6x2

6

—12x _ _
6x 2

6x(3x2 +x—2) —~— Solution

‘Exercises

Use the GCF to factor each polynomial.

1. 2lx — 14 2. 5% — 10y% + 15y L.+ 4

4. 32 + 6x* 5. 1803 — 6x2 + 24x 6. 22 — 372

7. 123 + 6/ — 18k 8. 6x° — 4x? + Bx 9, 8p% + 1207 + 4p
10. 36x% — 18x 1. 642 + 18 12. 6x° — 2% + 8
13. 653 + 622 — 6x 14. 55 + 522 15. 32 + 6x + 3
16. 10x% + 35x 17. 85 + 16x* — 84° 18. 9% — 6x° — 15x
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Reteaching 9-3

Multiplying Binomials
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OBJECTIVE: Muitiplying binomials

_MATERIALS: Necne

To multiply two binomials, follow these steps:

* Multiply each term in one binomial by each term of the other binomial.
Drawing arrows as a visual reminder of what to do is a helpful

technique.

o Circle like terms and combine.

Find the product (x + 7)(x + 2).

AN

{x+TN)(x+2) -—

2 + 2x -—
(x+ 7Hx +2) -~
Tx + 14 ~—
22+ T+ 14 -—
X2 +@+@+ 14 -~
409+ 14 -—

Exercises

Draw arrows from the first term in the first binomial to both terms in the
second binomial.

Multiply each term of the second binomial by x.

Draw arrows from the second term in the first binomial to both terms in
the second binomial.

Multiply each term of the second binomial by 7.
Add the two expressions.
Circle like terms and combine.

Solution

Use arrows as shown above to simplify each product.

1. (x + 6)(x - 2) 2. (x — B)(x — 4) 3. (x - 3)(x + 9)
4 (x+2E-7) 5. (2x + 3)(x + 4) 6. (x + 4)(2r + 5)
Simplify each product.

7. (7x + H)(2x — 4) 8. (3x + 2)(3x + 2) 9, (5x + 1)(x + 1)
10. (2x + 1)(x + 1) 1. (4x + 1)(2x — 1) 12. (3x — 1)(x + 2)
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Class Date

Name

Multiplying Special Cases

Reteaching 9-4

OBIECTIVE: Finding the square of a binomial and MATERIALS: None

® Pearson Education, Inc. All rights reserved.

finding the difference of two squares.

Finding the square of a binomial.

Remember: ¢ Square the first term.

» Double the product of the two terms.

e Square the last term.

» Write the sum of your three products.

(x — 5)32 Square the first term: x?
Double (x)(—5): 2-(-5x) = —10x
Square the last term: (—5)2 =25
Write the sum of your three products: £ — 10x + 25
. Finding the difference of two squares.
Remember: s Square the first term.
s Square the last term.
* Write the difference of your first square
and your second square.
(B3x - 2){(3x + 2) Square the first term: (3.\:)2 = Ox?
Square the last term: (2)2 = 4
Write the difference of your first
square and your second square: 9x? — 4
Find each product.

1. (x — 7)2 2. (x + 1)

3. (x — 4y 4. (x — y)?

5. (2x + 3)2 6. (3x — 5)°

7. (2x + 1)% 8. (5x — 4)?

9. (x + N —7) 10. (x + 8)(x — 8)
"M (& - 3)(x + 3) 12 (x + y)(x —y)
13, (dx -+ 3)(4x — 3) 14, (2x + 5)(2x — 5)
15. (3x + 2)(3x — 2) 16. (7x — 1){(7x + 1)
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Name Class Date

REteaChing 9-5 Factoring Trinomials of the Type x2 + bx + ¢

OBIJECTIVE: Factoring trinomials of the type MATERIALS: Tiles
24 by +c

Factor x2 + 6x + 8.

(x Mx ) —-—  Write factors of xz, the first term of the trinomial, at the
beginning of each set of parentheses. Note that the coefficient of
s 1.

+1and +8 -1 and -8 ~— List pairs of numbers that are factors of +8, which is the constant
term of the trinomial. Choose the pair of factors that add to

@and —2and —4 equal +6, the coefficient of the middle term of the trinomial.

(x + 2)(x + 4) ~— Write those two faciors, with their signs, at the end of each set of
parentheses.

x +4

~— The trinomial x* + 6x + 8 represents the area of a rectangle with
X side of length (x + 4) and (x + 2).

Factor x2 + 4x — 21.
x ) )
—land +21 +1and -21 —— List pairs of numbers that are factors of —21.

—3and +7 43 and —7

x=3{x+7 ~—— Choose the pair of factors that add to equal +4.

factor each expression.

1. y2 + 11y + 18 2. 2 -8+ 15 3. 1% — 11x + 18
4, y2 -5y + 4 5. x>+ 6x + 8 6. y> — 8y + 12
7. 2+ 13r + 12 8. x% — 16x + 39 9, x2 — 10x + 16
0. x2 — x — 2 1. 2~ dx — 32 12, x2 ~ 7x — 18
3. %+ 7x + 10 14. x* — 11x + 24 15. x% + 16x + 63

Lesson 9-5 Reteaching Algebra 1 Chapter 9
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Name Class Date

ReteaChing 9-6 Factoring Trinomials of the Type ax? + bx + ¢

OBJECTIVE: Factoring trinomials of the type MATERIALS: None
at + bx+eca>1

A table can be helpful when factoring trinomials of the type ar + bx + c.

Examples:

Factor 2x2 + 13x + 20.

Write the first term in the top left box of the table. — 242

Write the constant term in the botiom right box of the table. —_ 20

Find the product ac. —— Sincea = Zand ¢ = 20,ac = 40.

— + Since ac = 40and b = 13, the

Find two numbers whose product is 2c and
numbers are 8§ and 5.

sum is b.
‘These numbers are the coefficients of the x terms that are — 22| 8¢
written in the remaining boxes of the table.

. 5x |20
(Note: Try repeating these steps, exchanging the locations -
of 5x and 8x.) x 4
Now, find the greatest common factors of the terms in each — v 2x |22 8%
row and column. Write these above and to the left of the table.

5 |5x|20

Read across the top of the table to find one factor. —x+ 4
Read down the left of the table to find the other factor. —2x + 5

So,2x% + 13x + 20 = (x + 4)(2x + 5).

You can check your answer using FOIL.

Factor 3x% — 2x — 8.
ac = 3(—8) = —24

b= _(7 ) Ix 4

x |32 | dx

The numbers whose product is —24 and sum is —2 are —6 and 4. Write —6x N

and 4x in the table and find the GCFs of each row and columun. x|~

32— 2x — 8 = (3x + 4)(x — 2}

Factor each expression.

1. 222 + 1ix + 14 2. 4% —12x + 5
3. 62 — 13x + 2 4, 622 +7x — 20
5 3% + 4x — 4 6. 812 — 13x ~ 6
7. 2% —5x + 3 8. 5x% — 26x — 24

9, 62 — 7x — 3 10. 6x2 + Tx — 3

Algebra 1 Chapter 9 Lesson 9-6 Reteaching




Name Class Date

ReteaChing 9-7 Factoring Special Cases
OBJECTIVE: Factoring the difference of two MATERIALS: None
squares

 The difference of two squares is written * — 5% Note that both terms
must be perfect squares.

¢ The factors of the difference of two squares, a* — b are {(a + b) and
(a2 — b). Once you have determined that the binomial you want to
factor is the difference of two squares, you can factor by using the
formula a® — 52 = (a + b)(a — b).

~— Both terms are perfect squares.

~— Rewrite 16 as 4°.

~—  Write the formula.
a® = b% = (a + bj(a — b)

—~— Replace b with 4,
a* — 4 = (a + 4)(a - 4)

~—— Solution

(a + 4)(a — 4)

Factor 3a* ~ 75.
~— Both terms are not perfect squares.

3a% - 75

~— Both 3a? and 75 are divisible by 3. Factor out 3.
3(a® - 25)

~— 25is a perfect square. Rewrite 25 as 5°.
3(a* — 5%)

5 2 ~— Write the formula.
a“ — b ={a + b)(a — b)

—=— Replace b with 5.
3(a® — 5%) = 3(a + 5)(a - 5)

~— Solution

Exercises

Factor each expression.

© Pearson Education, Inc, All rights reserved,

1. a* - 36 2. X2 - 64 3. y? — 49

4. 45 — 25 5. 9y% ~ 16 6. 252 — 64

7. 3x* - 12 8. 2x2 - 18 9. 4x2 — 16

0. x2 - 225 1. x2 — 144 12. 16x% — 49 )
3. 6x% - 54 14. 7% - 112 15. 5¢% — 125 |
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Class Date

Name

Reteaching 9-8 Factoring by Grouping
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OBIECTIVE: Factoring by grouping MATERIALS: None

To factor a polynomial with four terms, we can sometimes group pairs of
terms together, find the GCF of each pair, then factor a GCF from the

resulting terms.

Factor x> — 8% + 5x — 20.
Group pairs of terms together. — (Zx3 — 83 + (5x — 20)
Factor the GCF from each pair. 2%k — 4) + 5(x — 4)

{Note: To proceed with this method, both sets of
parentheses must contain the same expression.)

Replace the expressions in parentheses with A. —2A+5A
Now, factor the common factor A from both terms, — A (2 + 5)
Lastly, replace the A with the expression it represents. — (x — 4)(2.7:2 + 5)
So,2x> — BxZ + 5x — 20 = (x — 4)(2x% + 3).

You can check your answer using FOIL.

It is sometimes possible to use this method to factor trinomials
by first rewriting the middle term as a sum.

Factor 2x2 + 13x + 15.

Find two numbers whose product is ac and — Since 2 = 2 and ¢ = 15, ac = 30. Since ac = 30

and b = 13, the numbers are 10 and 13.

sum is b.

Rewrite the middle term as a sum of two terms whose — 13x = 10x + 3x
coefficients are the two numbers you just found.

Replace the middle term with this sum. — 222 4+ (10x + 3x) + 15
Regroup the terms and proceed as in the first Example.  — (2x* + 10x) + (3x + 15)
Factor the GCF from each pair. s 2x(x + 5) + 3(x + 5)
Replace the common expression with A. —2rA+3A

Factor A& from both terms. — A(2Zx + 3)

Replace the A with the expression. — {x + 5)(2x + 3)

So,2x% + 13x + 15 = (x + 5)(2x + 3).

Factor each polynomial by grouping.

1. 28 + 42 + x + 2 2,23 + 6% + 3+ 9 3. 5x2 — 25x2 + 2¢ — 10
4. 23 + 12 — 5¢ — 30 5. 782 — 42+ Tx — 4 6. 93 — 122 — 18x + 24
7. 32 +xr -2 8 222 -x-3 9, 52 + 34c — 7

Algebra 1 Chapter 9 Lesson 9-8 Reteaching
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Date

Enrichment 9-1
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Math Magic

1. A magic square is shown. Add the numbers in each row, in each 7 b 16 9
column, and in each diagonal. What “magical” property do you 12 13 3 6
observe? 1 3 10 15

14 11 5 4

2. Add the constant 3 to each entry of the magic square. Is the new
square a magic square?

3. Subtract the constant 7 from each entry. Is the new square a
magic square?

4. Complete the 5 X 5 array at the right so that it becomes a 17 1 3
magic square.

5 7 16
4 13 20
10 12 21 3
11 18 g9

5. Add the polynomials in each row, column, and diagonal. c—4xt+1 .
What is each sum?

. . x+3 jx—-1}x~35

6. Isit a magic square?

x—=2 |x—-3(x+2
7. Complete the 4 X 4 array so that it becomes a magic square.
x+ 10| x—3 x—4 [ x+7
x—=1| x+4 | x+35
x x+6
x—2 x+ 8
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Chapter 9 Answers

Practice 9-1

1.4y3 — 4}12 — y + 3; cubic polynomial with four terms
2.4 2 - 6; fourth degree trinomial 3. x + 2; linear
binomial 4. —Tnm® + 2m? + 3rz; cubic trinomial

5.2¢ — x + 4; quadratic trinomial 6. e+ th; cubic
binomial 7.1% — 5n; quadratic binomial

8. 7% + 6; quadratic binomial 9. @ + 3% — da + 3
cubic polynomial with four terms 10, 3x -+ 5; linear binomial
1. —84> + 6a + 7; quadralic trinomial 12. —x* + 5x + 4
quadratic trinomial 13. —x> + 4x + Z; cubic trinomial
14. 4x* — 2¢% cubic binomial 15.y® — 3y — 7: quadratic
trinomial 16. —6x% + x — 3; quadratic trinomial

17.v3 + 20 — v; cubic trinomial 18. 342 + 84; quadratic
binomial 19.2¢% — 0x —~ 3 20.38° — 7% + 4
29.-2% =y -y +1 22227 - Tx + 1

23.32° + do® + 50 24.2° — 4y + 10 25.6% +x — 9
26.3n% —n — 4 27.4° — n® + 4 28,792 ~ 12y
29.3x% + 3 — 20 30.0° - 5% +x 31.-20 — 2 —
32.24° — 4d% — 6d + 5 33,5 + 82 34.3¢% — 3c — 3
35.4y° — 1ly 36.2c* — 3 37.16x% + 14x + 15

38. —15:2 — 6x + 3 39.37 + 7x + 16

80.7° — N2 ~x+3 41.y° - 5% +y — 2

42. - — T —8r +5 4317 — x + 2

44, -2% —8x +1 45. -2 + 12 +x — 5

46.a° + S50® +3a 47.4x + 1 48.3n + 4
49.5% — X% + Tx — 6 50.65% + Is + 4

51.5¢2 — 6x + 14 52.58° — x? — 3x + 13 53, -6
54.5% — 22 + x + 3 55402 4 20

56.x% — 8% — x + 12 57.2x + 9 58.25% — 3x + 8

Practice 9-2

Tda —12 2. -5x + 10 3. -3 - 0 4.4¢% — 1277
5 —5x w103 — 5¢% 6.3 — 1522 ~ 9y

7.2 - 32 + 2 844" — 1247 - 2842

9.5m* + 30m® 10.24° + 4 1152 + x — 12
12.20x* — 24x 13.4 14.15x 15.x 16.4 17.12
18.4n% 19.7x% 20.4x 21.9 22.5¢% 23.11x 24.207
25.4d 26.3 27.8 28.2(4x + 5) 29.4n(3n% — 2)
30.2(7d — 1) 31.24(3h — 4) 32.37%z% — 5z — 3)
33,937 — 8y — 9) 34.23(x —5) B -Ir+1)
36. 7x(3x + 1) 37.2a(3a% — 6a + 7) 38.6:%:2 + 2)
39.3n(° — 2n + 3) 40, 2w(w? + 3w - 2)

41.6c%(2c — 5) 42,202 + dx = 7) 83.4x(x% + 3x + 4)
84. 4m(dm? — 2m + 3) 45.4a(c® — 52 — 2)

46. (182 — 9c +7) 47.3y% (2% + 3y ~ 9) 48.3c(2c — 1)
49. x*(4 ~ ) 50.5x> 51.xX*(36x — 1)

Practice 9-3

.22 + ¢y~ 15 2.2 + 22 —1 3127 + 5w — 4
4.7 +9xr+20 5.2 -T2+ 11b—4 6.0%— 62— 55
7.482 —4g® — 11g + 12 8.3 — 195 + 20

9.4x2 — 25x — 21 10.2° + 262 — 21x + 18

112007 — 2x — 6 12,12)% + 43y + 35

13.3¢% + 220 + 35 14.52 + 135 — 6

15. 3% — 132 + 2m — 16 16.a> + 2a —~ 48
17,20 + 22 — ay + 4 18.4° — 1

9.5 +22 —dr -8 20,67 +r~1 20302 + 8k — 16
22,20 — 7% + 160 ~ 15 23.2p% - 5p — 12

24,120 — 2% + x + 1 25.8¢7 — 26¢% + 23x -~ 6
26,57 + 12¢ + 35 27.6x% +x — 22 28.8¢% + 10v + 3
29.0x% — 16 30.18¢<% — 9x — 5 31. 4% — 31 — 28
3667 4+ x ~ 1 33.4% - 2d — 99

34.407° + 1% — x — 3 35.26% + 11h — 40

36.2¢% + 3x — 20 37.15x% + 4x — 35

38,2 — 17x% + 33 + 10 39.4%° — 1607 + 13x + 11
40,45 + 24 + 27x — 28 A1.3x° + 2322 + 63x + 55
42.35¢% + 64x + 21 43.8x% — 34x + 35

44, 3% — 22y — 45 45.20° — 1522 + 9 — 1

46a. 2¢> + 18x + 40 46b. 544in2 46¢, 760 in2
47a.3x7 — 16x + 16 47b. 156 ft2 47¢. 115 i2

48, 27 in. by 23 in.

Practice 9-4

1w —dw +4 2.7 + 8y + 16 3.16w* + 16w + 4
4. w? — 18w + 81 5,972 + 42x + 49 6. 92 — 42x + 49
7.4x% — 36x + Bl 8.x% — 24x + 144 9.36x2 + 12¢ + 1
10. 162 — 56x + 49 11.x% — 64 12.x% — 121

1307 — 144 14,57 — w? 15.4:%2 — 1 16.252 — 4
17.36% — 1 18.4¢2 — 16 19.x% + 242 + 34

20. 4x* + 4xBy? + y? 21.4Y - 2477 4+ B4

22,y — gy?w? + 16w? 23.9.~ 36:% + 36t

24.16a% — 24ay + 9% 25.9)7 — 4a% 26.x% — 442
27.9x* — 16w" 28. 1652 — 9w 29, da? — 49h°
30.25a% — 36x% 31.324 32.4096 33.899 34.9991
35.798 36.19475 37.4x% + dx + 1 38.%% — 4
39.22x + 121 40. (18 + 81)x

Practice 9-5

TLx+4x+4 2.(d+7d~+1)
3 +dy+2) 4 -3Db+ 1)
56 -3 +1) 6.(x+ 8)}x + 4)
Tx—4x -3 8(x—2x -~ 3)
9@+ Da+1) 10.p— N -1
T(d+ I){d +3) 12.(n + 3)n —2)
13, (x+ N{x —2) 14.(b + )b + 2)
15. (x + B{x + 5) 16.(a + 3)a + 4)
7.0+ 2)(x +11) 18 (x + H{x — 1)
19.(x - 6{x —2) 20.{x + 9)(x — 2)
21.(n - 3)(n —2) 22.(s - T)(s + 2)
23 {x —B)(x - 1) 24.(x — 6}{x + 4)
25 (x — 9(x + 3) 26.(x — 18)(x + 2)
27 {x +3)x +2) 28.(x — T)(x + 4)
29.{(m — N(m + 3} 30 (x + 3)x - 5)
31.(x — B)(x +3) 32.(b - 10)(» + 6
B.fx—06Mx+3) 34 (m+ 5(m+2)
35.(n —9)(n + 8) 36.(k—35)k~—-1)
7. (x+ D +35) B{r—-Nx—-1)
39.x -Hx—4) 40 (d -3 - 1)
.06 - 24)(b —2) 42.{n — 13)(n ~ 2)
BB.(n-3)n+72) 44z -z~ T
A5 (x + H{x + 3) 46.(x — 17)(x - 1)
47, (x+ 1d)(x + 2) 48.(t — O(r + 3)
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Chapter 9 Answers (continued)

49. (b + 6)(b — 2) 50.(d + 2){d + 9)
51.(x + S5)x — 4) 52.{x — T)x — 6)
53.(x + 3){x — 2) 54.(x + T){x - 3)
55.{a — 5)a + 7) 56.(h + N — 2)
57.{x + 5){(x — 2) 58.(p — 14}(p + 2)
59.(y + 1)(y — 3) 60.(b + 4)}b — 1)
61.(x + Nx —7) 62.(x — 4)(x + 2)
63.(x — 13)(x + 4) 64.(r + T)(r — 5)
65.(c — 5)(c + 2} 66.(x + 5}x + 3)
67. (x — 5)(x — 3) 68.(n — 20)(n — 3)
69.(c + 5)c —2) 70.(x ~ T)(x — 2)
7L (x — 6){x —4) T2 (x + 9(x — 3)
73.(v— 8y — 8 .(n+5)n+3)
75. (r — 1T)(r + 3) 76.(x + B)(x - 5)
77.(x — D{x + 6) 78.(n — N(n +7)
79.{a + 6){(a + 1) 80.(x — B)}{x — 6)
81.(x — T){x — 4) 8L (n + 18)(n — 2)
83.(n—Tn+3) 84y + 1Ny - 1)

Practice 9-6

T+ D{Zx + 1) 2 (x + 1)(2x + 3)
3.(n+2)2n ~3) &(x + 1)(3x — 4)
5.2y + 1)y - 5) G{x+1Bx—7)
7.(n + 1){Tn + 2) B.(c — 6){3c + 1)

9, (x + 2)(3x + 2) 10.(x — 2)(6x + 5)

M. (x — 2)(3x —4) 12.(y - 6)(3y + 2)
13+ D)Ex ~ 3) 14(x+2)(3Ix+ 1)
15.{x — 1}(7x — 3) 16.(x + 1)(3x + 5)
17.(x + $(2x + 1) 18, (x — 1){(5x — 2)
19. (x — $)(5x — 2) 20, (x + 5)(4x — 3)
2% (x — NEx + 2) 22.(x — 2)(3xr + 4)
23.(y + 3)(3y — 2) 24.(x + 8)(2x — 3)
25. (y — 3){dy + 1) 26.(y + D)2y + 7)
27.(y — D3y + 2) 2B.(y + 2)(7y + 5)
29, (x — 4)(7x ~ 2) 30.(x + 5)(3x + 2)
31, (2 — I){x + 3) 32.(2x — 3)(x — 1)
33, (3x + 1){x + 3) 34.(2x — T)(x + 3)
35, (5x — IMx — 2) 36.(2¢ + 5)(2x — 3)
37.(3x — 5)(2x — 3) 38.(Zx + 5)(x — 3}
39.(x — 3)(3x + 2) 40.(2x + 3)(x — 4)
41, (2x + 1)(3x — 5) 42 (dx + 3)(x + 1)
43.(3y — D4y — 1) 44.(2y - 1)(3y — 1)
45, (2x —~ 1)(3x — 4} 46.(3x + 1)(4x + 3)
47.(y + N7y — 2} 48, (x — 5)(11lx + 1)
49, (3x — 2){(5x — 3) 50.(2x — §)(4x — 3)
51.(2y + 3)(7y — 3) 52. (2x + 5)(11x — 2)
53.(2x — 5)(7x — 3) 54.(y + 1)(8 + 9)
55. (x + B){8x + 1) 56. (dx + 5)(3x + 3)
57.(3y + 4)(By + 3) 58.(3x — 4)(6x — 1)
59.(Zx — 1)(5x + 4) 60.(2y - 5}5y — 2)

Practice 9-7

1.(x = 3)(x +3) 202m - 1)2m + 1) 3.(a + 1)
4. (2x + 3% 5.(x ~ 11)? 6.(n - D(n + 2)

7.(3x — )3x + 2) 8.(4c — Ndc + 7)

9, (3x — 5% 10.{2x — 5)* 11.2(a — 3){a + 3)

12, (xr — 1202 13.3(n — 1){n + 1) 14.(3h + 10)?
15.(3d — T)(3d + 7) 16.{9%a — 20)(9a + 20)
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17.(r — 6)(r + 6) 18.3(a — 4)(a + 4) 19.(b + 2)%
20. 10(x ~ 3)(x + 3) 21.(5x — B)(5x + B)

22.3(2w — 3)(2w + 3) 23.g(g — 5)g + 9)

24.(x + 3% 25.(a — 5){a + 5} 26.9(25 — 5)(25 + 5)
27.(2b + 11% 28.(x — 8 28.(x - 1)? 30.(d - D(d + 7)
3 x(x — ﬁ)gx + 6) 32.(3y — 17)(3y + 17)

33. (v ~ 15)? 34, (10 — 3)(10a + 3) 35.2(x + 1)
36.5n(n + 2)(n — 2) 37.(3n + 2)* 38.(d — 13)(d + 13)
39, (2a ~ 9)(2a + 9) 40.(x — 11)(x + 11) 41.5(x + 4)?
42. (4n + 7)% 43.3(n — 5% 44.(a + 13)°

45, (5x — 12)(5x + 12) 46.(3d — 8)(3d + 8)

47, (n — 14)* 48.(7a — 1) 49.9 + 4)?
50. (y — 20)(y + 20) 51.(x — 5)* 52.(2x — 15
53.3(x — 11)(x + 11) 54.(y — By + 9)

55. (a — 10)(a -+ 10) 56. (165 — 1){16a + 1)

57.(n + 17)? 58.2d(d — 5)(d + 5) 59.(y + 11)?

60. (12x — 5)(12¢ + 5) 61.(2x ~ 13)(2x + 13)

2. (x — 6)2 63.(8r + 5% 64.2m(Sm — 4)(5m + 4)
65. (b — 15)(b + 15) 66.(x — 9)* 67.(b — B)(b + 8)
68. (4x — 9)2 69.(b — 16)(b + 16) 70.(x + 12)°

71.(15x — 4)(15x + 4) 72, 2x(x + 10)?

73.(2r = S)(or +5) 74 (4 + 12 75.(b — T

76. (x + 152 77.(m — 14> 78.(3r — 16)(3r + 16)

79. (b + 10)> 80.(m — 4)(m + 4) 81.4(x — 4)°

82. (x — 14)(x + 14) 83.8x(x — 2){x + 2) 84.(5x — 3)
85.8(m — 1)* 86. (3x — 20)(3x + 20)

87. (m — 12)(m + 12)

Practice 9-8

Lix-2a+2) 20 +a)(x+y) 3.0n+kx—3)
4.(a ~ b)Yy + 1) 5.{x + Zy)x + 3) 6.(y + &)y — W)
7.0y —Dx+4) 8.(b—3Na+7) 9(a+bYx+y)
10. (2 + b)(x — y} 1. (x — 3y} + 5)

12.(x — 2y)(3x + 2) 13.(2x + b)(a@ + 3c)

18. (x* — 2)(y — 3) 15.2 + )3 + »)

16. (2x — 1)(x — 1) 17.(2x - ){x — 3)

18. (3x + 2)(2x + 1) 19, (2¢ + H(2x + 1)

20. (3x — 2)(2x — 1) 21 (4x = 1)(x — 2)

22.(2x + 1}x — 2) 23.(dx + 1)(3x — 1)

24, (6x + 1)(x + 3) 25.(3y — 2)(4y + 1)

26.(2y + 5)5y = 2) 21.(5y + 3)(y + 2)

28, (8y + 1)(2y + 1) 29.(8x — 3)(2x — 1)

30. (dx + 1){dx + 3) 3L (5x+ 1)(2x — 1)

32. (9x — 2)(x + 3) 33.(7x — 3)(2x + 3)

34, (x + 422 + 1) 35 (47 +3)2x — 7)

36. (2 + 3)(5x — 1) 37.(x + (X" + 4)

38. (2x + )32 + 1) 39.(x + 3)(3x* + 2)

40, (3x — 032 + 1) M. (2 - 557 + 2)

42, (x — 5)(4x% + 3) 43.3x(6x — 7)(Bx — 5)

44, 4x(x + 7)(7x + 4)

Reteaching 9-1

1.6x+2% —4 2% +82+3 3.0x% — 2c—~3
4722 + 8c — 9 5.1425+ 222 -3 6. 7% + 1
7522 —x+1 862 -2 -3 +3 9.7y +1
10. 22 =17 1152 + 3 1247 — 22 + 6x = 5
13.°5 +d2 +6x—7 Mx*—x+ 10
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Chapter 9 Answers (continued)
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Reteaching 9-2

1.7(3x - 2) 2 Sp(y* — Ea 3) 3.x(x?- + 3x + 1)
4,351 + %) S.6x(3x% —x + 4) 6.2z - 3)

7. 61:(2!{2 - 3) 8.2x(3c% — 2 + 4)

9. 4p(2p° R 1) 10.18c(2c — 1) 11.6x(x + 3)
12.2¢(3x% — x + 4) 13.6x(x? + x — 1) 14.52%(x + 1)
15.3(x + L){x + 1) 16.5x(2x + 7) 17.807 + 2¢ — 1)
18, 3x(3x — 3}x + 1)

Reteaching 9-3

1.2 +4r —12 2.5 — 12x + 32 3.2+ 6x — 27
.02 —5r — 14 5.2 + llx + 12 6.2¢% + 13x + 20
7.14x2 — 20x — 16 8.92% + 12¢ + 4 9.5x% + 6x + 1
10.2¢% + 3x +1 1187 — 2r — 1 12.3x% + 5x — 2

Reteaching 9-4
T —Ux +49 252 + 2x + 1 3.x% — 8x + 16
A.xF — 2y + y2 5.40% + 12x + 9 6.9x% — 30x + 25
7.4 + dx + 1 8.25.\'2——40x+16 9x2—49

10. 2% — 64 11x"—9 12.% — f 13 162 — 9
4.4 — 25 15.9% — 4 16.49x

Reteaching 9-5

Ly +9y+2) 2.0 -3)(x~-35) 3.(x—-Nx—-2)
4y =1y -4 5(x + 4x+2)

6.(y —6)y —2) 7.(r + 12){r + 1)

8.(x —3N(x—-13) 9{x ~ 2(x ~ 8)

10.(x —2{x + 1) 1M.(x—8B)x-+ 4

12.{x — 9(x + 2) 13.{ + 2)x + 5)

14.(x — 3)}x — 8) 15.(x + I(x + 9)

Reteaching 9-6

1. (2 + T +2) 2.(2x — 5)(2x — 1)
3.(x — 2)(6x — 1) 4 (3x — 4)(2x + 5)
5.(x +2)(3x —2) 6.{8 - 3N)x+ 2
7.(x — 1){2x — 3) 8.(5x + 4)(x — 6)
9.(3x + 1)(2x ~ 3) 10.(2x + 3)(3x — 1)
11 (4% + 3)2v — 1) 12.(3x ~ D)5 — 2)

Reteaching 9-7

1.(a+ (e — 1) 2. (x + 8)(x — B)

3.0y + Ny —7) 4 (2 + 5)2x ~ 5)
5.3y + £)(3y — 4) 6.(5x + 8)(5r ~ §)
7.3k + 2)(x —2) 8.2(x + I)(x—3)
9.4(x — 2)(x +2) 10.{x + 15)(x — 15)
1. (x — 12)(x + 12) 12, (dx + T)dx — 7)
13.6(r — 3)(x + 3) 14.7(x — 4)(x + 4)
15.5(x — 5)(x + 5)

Reteaching 9-8

TLx+ 222 +1) 2 (r+3)(?.r2+3)
3. (x - 5)(5x2 +2) A(x+ 6)(2r - 5)

5.(7x — 402 + 1) 6.(3x — 9% - 6)

7.(x + 1)(3x — 2) 8 (xr + 1}2x — 3)
9. (5x — 1}(x + 7)

Enrichment 9-1

1. All sums = 34.

2. yes;

0 {5 |19 |12
15 |16 | 6 9
4 11 [13 |18

23| 3 7| 14| 18
4 6 | 13 [ 20 22
0 (12|19 )21] 3
1118125 2] 9

53r —3 6. yes
7. x+1W0x—-3|x—4|x+7
x—1|x+4[x+5[x+2
x+3| x x+1|x+6
xr—2|x+9|x+8|x—5

Enrichment 9-2
e 172

1 3 9.

8 3 4
2. all sums equal 15
3. yes;

1820 ] 6

311527

2419 |12

4 %6x [ 7x | 2
X S5¢ | 9%
8¢ | 3x | dx

P 12x + 6|14+ T dx + 2
2x+1 [10x + 5({18x + O
l6x +8|6x+3 |8x+ 4

6, yes 7. yes;sum = 7%x + 3 8. Check students’ work.

Enrichment 9-3
1.3819 2.121968 3.x2 + 6xr + 8
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